Seat No.:

Diploma Engineering Semester —I/II Examination Jan. 2012

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Subject code: 320046
Subject Name: Business Statistics
Time: 10.30 am — 01.00 pm

Instructions:
1. Attempt all questions.

2.
3.
4.
Q.1
Q.2
(a)
(b)
(b)
Q.3
(a)
(b)
Q3 (a)
(b)

Answer any two:-

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.
English version is considered Authentic.

Date: 25/01/2012

Total Marks: 70

(1) Features of a good sample (ii)Sample size
(i) Random sampling (iv) population survey

Calculate the quartile deviation from the following:-

Marks 10- | 20- |30- |40-]50- |60- |70- | 80-
20 |30 40 50 |60 70 80 90

No.of 13 |17 25 20 |11 8 5 1
students

Calculate the standard deviation from the following:-
Xi 0-10 10-20 | 20-30 | 30-40 |40-50 | 50-60
fi 5 20 40 25 6 4

OR

Write the merits and demerits of standard deviation.

Find the Co-efficient of skewness by Karl Pearson’s method.
class | 0-5 5-10 | 10-15 | 15-20 | 20-25 | 25-30 | 30-35
Frequ | 3 10 15 23 18 9 2
ency

Find the Co-efficient of skewness by Bowley’s method.
Weight | 40- | 45- | 50- | 55- | 60- | 65-|70- |75- |80
in Kgs. | 45 50 55 |60 |65 |70 |75 80 -

85
No.of |20 18 12 |33 |32 |40 |30 |10 5
persons
OR

Define Skewness .Explain Positive and negative Skewness.

Explain the types of Co-relation.
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Find the rank co-efficient of co-relation.
X [66 40 |35 |75 |65 |80 |35 |20 |85 |65 |55 |33
Y [30 |55 |68 [28 |76 |25 |80 |85 |20 |35 |45 |65
Explain the scatter diagram method of co-relation.

OR
Explain (i) Meaning of Regression.(ii) Two lines of regression.
Find the regression line of Yon X from the following:

X 5 6 7 8 9 10 11
Y 10 12 12 16 16 15 17
From the following find the Laspeyer’s Index Number.
Base Year Current Year
Item Qty Price Price
A 5 10 14
B 15 4 5
C 12 8 10
D 24 10 12
E 5 5 10
IF 2P(A)=3P(B)=5P(ANB)=1/3. Find P(AUB) and P(ANB).
OR

Explain (i) Random Experiment.(ii) Mutually Exclusive Events.
There are 5 Red and 3 Black balls in a box. Two balls are taken at
random from it. Find the probabilities that

(i) Both the balls are of different colours.

(i1) Both are Red.

(iii)Both are of same colour.
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Base Year Current Year
Item Qty Price Price
A 5 10 14
B 15 4 5
C 12 8 10
D 24 10 12
E 5 5 10
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